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FOUNDATIONAL: 6 points each.

ONE: 
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TWO: An arithmetic sequence, , has first term of 2 and a common difference of 12. Find: 

a. An expression for the nth term.           [2 marks]






b. .           [2 marks] 





c. The value of the smallest term that is greater than 470.           [2 marks]










MODERATE: 4 points each. 

THREE: 35
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FOUR: 
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HIGH CHALLENGE: 2 points each. 

FIVE: 										[6 marks]
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SIX: 										[6 marks]
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In the arithmetic series with n'™ term uy, it is given that u4 =10 and ug = 25.

Find the yalue of » so that u) + uy + u3 + ... + u,=175.
(Total 5 marks)
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There is a geometric sequence {u,,} , where u, =-81and u, =3.

(a)

(i) Find the first term and the common ratio of the sequence.

(ii)  Hence, find u,.
[5 marks]
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A geometric sequence has all positive terms. The sum of the first two terms is 36 and the sum
to infinity is 48 . Find the value of

(a) the common ratio;

(b) the first term.
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Find n given that )  (2k — 8) =18.
k=1




image8.png




image1.png
Consider the arithmetic sequence 8, 26, 44, ....

(a) Find an expression for the n'™ term.

)
(b)  Write down the sum of the first » terms using sigma notation.

(O]
(¢) Calculate the sum of the first 20 terms.

(©]

(Total 4 marks)
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